0_1:_ ....................... ; ........................
O e SRR S SREEIE SLEERS
0: raklAd ddkiddaduid A.,_..E‘ Arhdd A Ak d Ak bded A b ddd

....I....I....I....I....I....

< 0dy > (kM)

Ratio

<op/p, > (%)

Ratio

o
[N

<3 @> (rad)
o
=
(6)]

=
o
o

(k=]

-1 0 1 2 3
TP n (PCA to beamline)

o
[N

< d cot(B) >
o
[
[6)]

o
i

................................................

(k=]

1 2 3

—e— DQM_mkFit_step2_tthar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
—+— DOM fast_step2_ttbar-phasel-newgeom

[—=— DQM_original_stepZ_tbar-pnase-newgeom

o]
o

40

20

-1 0 1 2 3

.............................................

.............................

T 0 1 2 3
TP n (PCA to beamline)

...............

.........

........................

...............

........................

........................

1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


